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I particle/jet KF p_x P_y p_z E n
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2 Ip+! 2212 0.000 0.000-7000,000 7000,000 0.938
3 gl 21 -0.046 -0.039 281.254 281.254 0.000
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12 Icbar! -4 -52.730 145.440 -210.218 261.011 1.500
13 l~chi_1+! 1000024 439.773 -313.176-1005.252 1157.399 193.806
14 lubar! -2 -36.122 1B.447 -769.906 771.064 0.330
15 i~chi_20! 1000023 -B7.031 51.275 -567.173 605.830 186.813
16 !c! 4 -259.935 243.932 -74.892 364.253 1.500
17 i~tau_ 1+ -1000015 217.801 -133.210 -426.484 511.928 122.475
18 !nu_tau! 16 221,972 -179.966 -578.769 645.470 0,000
19 I-tau_1+! -1000015 -119.524 31.826 -476.908 507.727 122.666
20 ltau-! 15 32.493 19.449 -00.265 097.803 1.777
21 !-chi_10! 1000022 206.487 -140.580 -397.708 480.093 99,587
22 ltaus! =15 11.314 7.370 -28.775 31.8B35 1.777
23 |~chi_10! 1000022 -B3.267 42.017 -368.346 302.B05 99,587
24 ltaus+! -15 -36.257 -10.191 -108.561 114,922 1.777
25 (~chi_1+) 1000024 439.773 -313.17V6-1005.252 1157.399 193.806
26 (~chi_20) 1000023 -87.031 51.27V5 -567.173 605,630 186.813
27 (~tau_1l+) -1000015 217.801 -133.210 -426.484 511.928 122.475
28 nu_tau 16 221.972 -179.966 -578.769 645.470 0.000
29 (~tau_1+) -1000015 -119.524 31.826 -476.908 507.727 122.666
30 tau- 15 32.493 19.449 -00.265 97.903 1.777
31 ~chi_ 10 1000022 206,487 -140.580 -397.708 480,003 99,587
32 tau+ -15 11.314 7.370 -28.775 31.8B35 1.777
33 ~chi_10 1000022 -83.267 42.017 -368.346 392.805 99.587
34 tau+ -15 -36.257 -10.191 -108.561 114,922 1.777
35 d 1 -5.184 -145.559 -330.365 361.048 0.330
36 cbar -4 -52.730 145.440 -210.218 261.011 1.500
37 ubar -2 -36.122 1B.447 -769.996 771.064 0.330
38 u 2 0.224 -0.345 -B97.168 B97.169 0.330
39 c 4 -259.935 243.932 -74.892 364.253 1.500
40 ud_1 2103 -0.507 0.014 6670.548 6670.548 0.771
41 u 2 0.553 0.025 48.194 48.198 0.330
42 ud 0 2101 0.960 -0.052-2863.682 2863.682 0.579
sum: 2.00 0.00 0.00 0.00 14000.00 14000.00
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